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Question: 1

A poisonous gasis
(A) Oxygen

(B) Nitrogen

(C) Sulphur dioxide

(D) Carbon dioxide

Ans: C

Sulphur dioxide @

Question: 2 QJ
Valency of carbon is ’\@ N

(A) 1

(B) 2
™\

©3 R

Ans: D

4

Question: 3

A soft metal that can be easily cut with a knife is
(A) Sodium

(B) Aluminium

(C) Copper

(D) Gold



Ans: A
Sodium

Question: 4

An example for second order levers is
(A) Forceps

(B) See saw

(C) Wheel barrow

(D) A pair of scissors

Ans: C @
Wheel barrow ( Q
Question: 5 @ *

Which of the following power plal@’%s the least cost?

(A) Gas turbine
(B) Nuclear Qi%’\\

(C) Thermal @

(D) Hydro-electric
Ans: D

Hydro-electric



